
0 500 1000 1500 2000 2500 3000

Runof f  (mm a − 1)

0

2

4

6

8

10

12
R

ea
ct

iv
it

y
(a)

r2=0.16, p=0.20

r2=0.19, p=0.06

Active
Not considered
Inactive

10 5 0 5 10 15 20 25 30

Temperature ( C)◦

0

2

4

6

8

10

12

R
ea

ct
iv

it
y

(b)

r2=0.16, p=0.09

Active
Not considered
Inactive

0 500 1000 1500 2000 2500

Runof f  (mm a − 1)

0.0

0.2

0.4

0.6

0.8

1.0

1.2

1.4

1.6

1.8

A
lk

al
in

it
y 

(1
06 m

ol
 k

m
−

2 a−
1 )

(c)

r2=0.15, p=0.11

Inactive

10 5 0 5 10 15 20 25 30

Temperature ( C)◦

0

2

4

6

8

10

A
lk

al
in

it
y 

(1
06 m

ol
 k

m
−

2 a−
1 )

Mt.Cameroon

Mt.Etna

Virunga

La Reunion

(d)

r2=0.96
p<10−3

Inactive
Not considered
Active




